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QUESTION 1

Which SQL statement is allowed in a BEFORE trigger? 

A. INSERT 

B. CALL 

C. MERGE 

D. UPDATE 

Correct Answer: B 

 

 

QUESTION 2

Given that CREATEMODULE salesModule statement has been successfully executed, what is the correct method to
manage this MODULE? 

A. REPLACE MODULE salesModule 

B. UPDATE salesModule MODULE FOR 

C. ALTER MODULE salesModule 

D. CREATE OR REPLACE selesModule UPDATE salesFunc 

Correct Answer: C 

 

 

QUESTION 3

Given the SQL statement shown below: 

Which privilege allows a user to execute the CREATE TRIGGER statement shown? 

A. SYSCTRL authority 

B. SELECT and UPDATE privilege on the EMPLOYEE table 
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C. SYSMAINTauthority 

D. SELECT and ALTER privilege on the EMPLOYEE table 

Correct Answer: B 

 

 

QUESTION 4

Given the following SQL: 

Which of the following statements is true? 

A. The procedure declaration requires theDYNAMIC RESULT SETS 1 clause in order to return a result set. 

B. The cursor declaration requires WITH RETURN TO CLIENT clause in order to return a result set. 

C. The cursor declaration requires WITH RETURN TO CALLER clause in order to return a result set. 

D. The cursor declaration requires WITH RETURN clause in order to return a result set. 

Correct Answer: B 

 

 

QUESTION 5

Click the Exhibit button. 
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Referring to theexhibit, how many rows will be returned by the SQL query shown below? 

SELECT * FROM TABLE(getnumemployee(21?) AS dSELECT * FROM TABLE(getnumemployee(?21?) AS d 
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A. 0 

B. 1 

C. 7 

D. 10 

Correct Answer: C 

 

 

QUESTION 6

Which two statements are true about SQL procedures? (Choose 2) 

A. SQL procedures reside outside of the database for easy portability. 

B. SQL procedurescannot be called from triggers. 

C. SQL procedures may return multiple result sets to the caller or to a client application. 

D. SQL procedures support recursion. 

E. SQL procedures support the PRINT statement. 

Correct Answer: CD 

 

 

QUESTION 7

Click the Exhibit button. 
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Given the user-defined function shown in the exhibit, what will the function return if invoked using the statement shown
below? SELECT check_id(1) FROMSYSIBM.SYSDUMMY1 

A. Error: ID 1 is not valid 

B. Application Error 

C. SQLSTATE 80000 will be returned, with the custom error message "Error: ID 1 is not valid" 

D. NULL 

Correct Answer: D 

 

 

QUESTION 8

Which statement can be used to define variable that can beshared between procedures? 

A. DECLARE my_gl_var INTEGER DEFAULT 1 

B. CREATE OR REPLACE VARIABLE my_gl_var INTEGER 

C. DEFINE GLOBAL VARIABLE my_gl_var INTEGER 

D. CREATE GLOBAL VARIABLE my_gl_var 

Correct Answer: B 
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QUESTION 9

Which statement is true about the NUMBER data type? 

A. In DB2, theNUMBER data type has maximum precision of 31; in Oracle, it has a maximum precision of 38. 

B. In DB2, the NUMBER data type is the same as in Oracle, provided the DB2 database was created in Oracle
compatibility mode. 

C. Declaring a column as NUMBER(10,-2)is valid both in Oracle and in DB2 provided the DB2 database was created in
Oracle compatibility mode. 

D. Declaring a column as NUMBER(6,8) is valid both in Oracle and in DB2 provided the DB2 database was created in
Oracle compatibility mode. 

Correct Answer: A 

 

 

QUESTION 10

In the code segment shown below: 

Which statement accurately describes the result? 

A. For activities whose description has not changed, update the description in the ARCHIVE table. For new activities,
insert into the ARCHIVE table. The ARCHIVE and ACTIVITIES table both have ACTIVITY as a primarykey. 

B. For activities whose description has changed, update the description in the ARCHIVE table. For new activities, insert
into the ARCHIVE table. The ARCHIVE and ACTIVITIES table both have ACTIVITY as a primary key. 

C. For activities whose descriptionhas changed, update the description in the ACTIVITY table. For new activities, insert
into the ACTIVITIES table. The ARCHIVE and ACTIVITIES table both have ACTIVITY as a primary key. 

D. The statement will fail since MERGE is not a supported operator. 

Correct Answer: B 

 

 

QUESTION 11
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Which two statements describe a CASE statement? (Choose two.) 

A. CASE statements are used to enter into some logic based on a literal value. 

B. CASE statements are used to enter into some logicbased on the value of an expression. 

C. CASE statements are used to return control to the beginning of an expression. 

D. CASE statements are used to enter into some condition and loop until the condition is met. 

E. CASE statements are used to iterate intosome logic based on a literal value. 

Correct Answer: AB 

 

 

QUESTION 12

In thegiven text below: What will be the value of the output variable BONUS? 

A. 500 

B. 1000 

C. 5200 

D. 5500 

Correct Answer: A 

 

 

QUESTION 13

Given the statement shown below: 
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What happens toNEWPROD if \\'http://posample.org/product.xsd\\' is dropped? 

A. NEWPROD will validate against a new schema. 

B. NEWPROD will raise an exception. 

C. NEWPROD is marked as inoperative. 

D. NEWPROD is dropped. 

Correct Answer: C 

 

 

QUESTION 14

Which option is used when declaring a global temporary table that will keep its data across transaction boundaries? 

A. ON ROLLBACK DELETE ROWS 

B. ON ROLLBACK PRESERVE ROWS 

C. ON COMMIT PRESERVE ROWS 

D. ON COMMIT DELETE ROWS 

Correct Answer: C 

 

 

QUESTION 15

Given the following statement: How many values are inserted in to the array called quantity? 
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A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: D 
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